1.

ohe T 2 gl T

ot A T S A2 BE AV

@ &7k ohyrt.

© 8992 1, 2, 3, 40t
© 39L1, 2, 3, 40]t}.
@ A9 1, 2, 3, 40|t
@ LHedr-goltt.

S W N
> W N

O 174 @ 278 @ 374 @ 474 ® 574



olJ
S

—_

2]

ol

TR

Nfo

ojn




NN

— —— —

0*en @
212 g
)
7:0,q
2) - 0.4
2) = (0. po



T A o] Hetoll A Fojd = &4 f, g ol W

Al
=

4.



@ 371

@ 471

@ 671

® 974



o
A,

® 2 @ 3 ® 5

1



ho(gof)

@ (gof)yt=fTlog!

@ (hog)of

=fog

@ gof

©® (fof)x) =x



I [e]

y | 2x +a | +49’] :LEHE-7]' E]—\—:f y:|2f£+a|+4 yA
Hit Zol A (-1,b) & AdT}. o, =

84 a,b &1 F ab | F& F5HH?

O 2 @ 4 ® 6

@ 8 ® 10 10z




A y=lx+1]|-|x-3|9 HAAGES M, 72 m o]zt & o,

M- m 9] g2 Fotoler,

CF-
e

v



@ 274 @ 374 @ 47 ® 571

@ 174



11.

A

_1%__
ER
o

aF

s H

S}

H
[e13
=]

A={-1,0, 1}, B={-2, —1,0, 1, 2} o ti5}o] 4 oA B
T f7hxe ARl BE x o ti5tY] f(—x) = - f(x) & T=HAZ

G f O A B A

@ 17 @ 271 @ 374 @ 4 71 ® 574



12. f(x) = 2x =32 W, £(f(x) = f(f(f(x)E TZ3E= x 9] 22
T-otoiat,

D
=%



(g0 f)(3) o] gr-& otoet.

5 J=X
=%

ol thated (g0 f)(2) +



x+k glx) =x*+1°] tsto] fog=gof 7t
k °] k& Astoiet.






16.

4x-3, g(x) = 2x+1 o tfot] hog = f & WEHol=

@ h(x)=x+4 @ h(x)=2x-5 ® h(x)=3x+2

@ h(x) =3x+5 ® h(x) =5x+3



® ¢




1l Hhstol o) = 1

,8(x)




19. ofgfol 1ge = gt

dFy = flx),y=x 9 T Zo|t}. () 9
e Tatofa
yp Y=z
dF---- iy




e

@ 2 ® 3 @ 4 ® 5

D1



21.

L

Ty =f(
f(x) =7

x) o] Lot vhg o] - &

@ flx)=k+1+1 @ f(x)=Ix+1-1
® flx)=Ilx-1+1 @ f(x)=Ix-1/-1
® flx)=-lx-1+1



A
A A

7}

.

il
P7t Qe A P
of oAl d AR Soted. d p7

CER
1
ol 54

[}

i=)

2]
2

=
HABEE

<,

o|J

1234z«

12342

0

1234z

(0)

12342

1234z

0

yk

0

0



0 x< 20 ey = f(x) o THET vhg 2HY E2 o,

oo () o e 1) = £, 20 = 1), ) =




f(x) o] T o O A
2 oE A2 Ae=?

24. olF%y

Hx) =19

H
o

A

of 2 \x;
/ y=f(2)

Ot @1A ® 274 @ 374

® 47

A (fe



25. AT X = {x|x<a, x= A5} o thst] X oA X 2] < f(x) =
—x2 4 4x 9 AGHTL EAT ), ¢ 9 G

@ o @1 ? 2 @ 3 ® 4



26.

Fo Ao A A X oA X 2] & f(x) = 2 + 2x,h(x) =

3;&)1 ol tHated, (ho £-1)(3) O] AL
1 2 4
® 0 . ® 2 @ 1 ® :



27. A f, g hol Wt f(x) = x +4, gx) = —2x +3 o]
(ftogtoh)(x)=f(x) 7t A o, n~'(5) o] Gk= F5tofet,

D R
=%



)
© @eJo] A% xol tiste] f(x) < x o]tk
© @ol9] ko] A% xoll thske] f(x+ 1) = f(x) Itk

D A @ O, © ® Q, ©
@ ©, ® ® 0, 0 0



oot

T f: N> NU{0}©]

@ 2001 - 22001 @ 2001 - 22002 @ 2002 - 22001

@ 2002 . 22002 ® 2003 . 22001




LT a¥e @5y = f(x) 91 TS
(

#7ta € W, 0ABCD 9] Hol=? (H,

L @) - @) {f(@) - a)
{f(@) - 1@} {f(a) - a}
%afl(a) 2

L@ @)

S {f(@)-a} {/(@) - a}

® © 0 ©




